A2

The weather is today.
Answer:

It's outside.
Answer:

The sun is
Answer:

We should wear clothes.
Answer:

The sky is
Answer:

It's today.
Answer:

The wind is
Answer:

There are clouds in the sky.
Answer:

It's

Answer:

The temperature is
Answer:




Answers

The weather is today.
Answer: sunny

It's outside.
Answer: warm

The sun is
Answer: bright

We should wear clothes.
Answer: light

The sky is
Answer: clear

It's today.
Answer: cloudy

The wind is
Answer: windy

There are clouds in the sky.
Answer: few

It's

Answer: humid

The temperature is
Answer: moderate



